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Teoremas fundamentais
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Pratique o que aprendeu      


Coordenadas GPS

Trevo São Carlos: 22.01 
47.90

23.51

46.72

Ponte Piqueri:

<latexit sha1_base64="VeBPNSHTHNuETpzcxAEXSU+FrDQ="></latexit>

d~̀= dr r̂ + r d✓ ✓̂ + r sin ✓ d� �̂

θ′￼= 22.01
ϕ = 47.90

θ′￼= 23.51
ϕ = 46.72

Qual é a distância?
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<latexit sha1_base64="VeBPNSHTHNuETpzcxAEXSU+FrDQ="></latexit>

d~̀= dr r̂ + r d✓ ✓̂ + r sin ✓ d� �̂

ϕ = 47.90

ϕ = 46.72
R = 6.37 × 106 m

⇒ dℓ = 206 km

θ′￼= 22.01

θ′￼= 23.51

dℓ = R (dθ′￼)2 + cos2 θ′￼(dϕ)2

d ⃗ℓ = Rdθ′￼
̂θ + R cos θdϕ ̂ϕ
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